Balance the Following Using a PENCIL

+ s> s 6. 2Fe + 2CL,> 2 FeCl
2. |z + [, > znal, 7 BA + 30, 2 ALOs
3.9zn + [ 0,> 7 0 8. 2Pb + 10, 2 PbO
4. [Mg + [S> MgS 9, 2Ag + [|S=2 Ag2S
5.2A + 35> Al;S; 102K+ {5 K3S
Set 2
L1%0 &9 5> ZnS 11, . 2.7 + | L~ 2. Agl
1 .} 297n + [ O =2 & &HO 12. 2.Pb + | 0,2 2. PbO
3.lmMg + (ClL > MgCl, 13. 2. Al + 3Br,> Z AlBr;
a.4Al + 30,> Z AL, 14. 2.Fe + 3FK> 2 FeF,
5.4P + 60, P4O10 15. 2 Sn+ | 0, 2 SnO
6.2Bi + 3Cl, > Z BiCh 16. 2.5b + & S> | SbySs
7.4H, + [ N; > 2 NH; 17. 2. Ca + } 0;> 2 Ca0
8.4cu + [ 0, > ZCu0 18. 2. Ba+ |0, 2 BaO
9. /S + 2.Ch > sncl, 19. 3 Mg+ 2P> MgsP,

.) 102Na + S Na,S 20, LK + | Ny 2 KN




Worksheet #3
Balance the following equations (again):
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Zn+ _Z HC—> _|_znclp + _| Hy

| NH3+_| wHO— _| NHjQ

DA+ _@HA—> 2 ACH+_3 Hy

2 Mg + _2 HiPOs)—> __| Mg3(POg)n + _3 By

| Cu+ _2 AdNO3)—> _| CuNO3)2 + _2 s

| _ca+ _ | po@osyy —> _| Pb+ _[ capiogy

(2}

L Al + _2 Pb(NO3)p —> _3 Pb + _Z- AINO3);

2_7Zn+ __ | Sn(NO3)4 —> _2Z Zn(NO3)y + _|_Sn

R+ = Alig —> _2. _AICl3 + - Iy

——

' Bry + _2 Cul —> _Z CuBr + ( In

> /NH40H + I FeCly —> _ 3 (NH4Cl + _|_Fe(OH)3

2 _KBr+ __| Pb(NO3)y —> _2= KNO3\+ PbBry

2 (NHA0H + _| CuSO4)—> l (NH4)’2‘SO4\+ i Cu(OH)

|_Pb(NO3); + _ 2= KCIO3)—> _|_ PB(CIO3), + _2 KNOj|

2. AICH; + _3 HySO)—> _| Al(SOg3 + _b_Ha

\

Al)(SO4)3 + _2 BaCly —> _2 BdSO4/+ _2_ AlCi
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